Ratio to SLD
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=
o
N

=
o

0.5

©
=
1@
1D
1<
1o
1@

| y’f/Zl (I—Iladlrorllic)l

— I | T T TTTTT | Tt T T T TTT | T | —
- Momentum Fraction(charged) 7
= u =
[ lll _]
_ - _
—— ~.~. —
— ”. pu—
— h N -
- ‘.\ —
I ‘.\. —
_ - _
— B _ —
E [ | SLD Nl\\ E
— - g- Pythia 6.428 391 \‘1 -
- % Pythia 6.428 393 N 7]
= - e-  Pythia 6.428 394 =
— v Pythia 6.428 395 L .
E, | | | | | | | | | | | | | | | | | , | — | E
: T T T T | T T T T | T T T T | T T | T T :
— = !.!-!—l-!--!*““‘~i-— ~ =, _ |
i e i
1 1 1 1 | 1 1 1 1 " | 1 1 1 1 | 1 1 " | " 1 1
0 10 20 30 40

Rivet 3.1.10, = 2.8M events
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